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Fiz HNOs;, CH:COOH H-SO0.
W KOH Ca(OH): , Ba(OH):

(fgany  —ofbFRH7= 0 ITE L H5HOH O 2Bk £ - 13 oMl v 5.

(7] (DEHCl #EH.0  (QFH.0 #£C0%  (IMH.0 HiiNH.
(OIH.0 HHECH,CO0
(i) HEH5Z5L008, ZTMDLONEERTHS.

[f7%]  a1=023  @:=25X10°  as:=1.6X10"
() HPO. == H + H.PO.
H.PO. == H' + HPO.
HPO.” == H'+ PO,
=27, [H:POJ =%, [H:PO.1=y, [HPO. ] =2 [PO."]=w, [H]=h, 0.10 mol/dm’= C
Lp L

hoyly =Ko ® hzly = Koo @ hwlz=Ks ®
O—-@xv  x=Co—h-®
®F@ITIRAL, ZOMEEDITRAN, EHICZTORREZOIZALETNENIEET S &
y=(CorKh  z=CrWKKR — w = (Corh)KKK/h
@bz ORXEOITRAT S &
(Coh) + (Co—mEKlh + (CorMEKAh* + (Co)KKKolh® = Co -+ @
-, pK=2.1, pK:=172, pK:=124 £V  K=79xX10" K.=6.3X10°  K:=4.0%x10"
E 512, 0.10 mol/dm’®d U D H 1B O FERERE 210 F2E & LThHh = 10" mol/dm 2 & R b
5. LoT, ROOLEPOFES, 4HITHEL, 2HICK L TEbd TS BHTE (2 & 2IXH3HIT,
(ComEIKR = [(Com)Ki/h] X 6.3 X 10 /10" = [(Co MK/ X 6.3X10° &£ 720, HHEE Y XD T/HE
V).
EoT, X@ix  (Coh) + (CoKifh = Cor--- @
LEITE S, XoT WK +Kh- CKi=0
WE, h>0720 5
h=CK+VE+4CK )2 = (-7.9%10° + v 6.2X 10°+4X 0.10X 7.9 10%)/9
=-7.9%x10°+¥3.22x10° =-79%x10°+5.7X10° = 4.9X10 72 = 2.5X 10 “mol/ dm’
E->T x=0.10- 2.5%X10 = 0.075 mol/dm’
y=0.075X7.9%X10"/2.5X10 = 0.023 mol/dm’
z2=0.023X6.3%X102.5X10°=5.8%X10 “mol/dm’




w=5.8X10"X4.0X10 "/2.5X10 "= 9.3X 10 " mol/dm’
DRI, FEREICBITA2EREZ a1, a2, askTHE

a 1= y/(x+y) = 0.023/(0.075+0.023) = 0.23

a 2= z/(y+z) = 5.8 X 10 /(0.023+5.8X 10 ") = 2.5X 10 '

as=w/ztw) = 9.3%X10 /(5.8 X10-8+9.3X10 ") = 1.6 X 10

(/] EEEEE o =3.0%10°  [OH1=6.0X10" mol/dm’
() NHsDEE%C (mol/dm’), EHEHE % o 42 &
NH: + H.0 = NH." + OH

EHERT  C 0 0 (mol/dm”)
EHE% CA-a) Ca Ca
Ths.

—77, Kb = [NH.1TIOH VINH:727 5
Ki=CaCalCl-a)=Ca’l(1-a)=Ca’
K,
L-oT o= E

[OH]=CaTHh"H, Kv=1.8%10 (mol/dm’) 7= 5

1.8x 10° 72
« =4 ~goa0  =30%x10

[OH] =0.020X3.0X10°= 6.0X10 ' mol/dm’

[##%] 1.0%10" mol/dm’
(fR3%)  H.80. —> 2H + SO." 775
[H]=2x0.050x1 = 0.10 mol/dm’
k-»T [OH]=K«/[H1=1.0%10"/0.10=1.0X10" mol/dm”
[f#%] 12
(i) [HT1=KJ[0H]=1.0%x10"70.010 = 1.0X 10 * mol/dm’
X->T  pH= —logu[H]=—log 1.0X10 "= 12

[##7] 20 cm’
(fpmi) KRB Zx(em’) & T 5 &
2HC1 + Ba(OH). —> BaCl: + 2H:0
£
0.10X (80 / 1000)x(1 / 2) = 0.20 X (x / 1000)

x=20cm’



